Number: Description:	PROJECT NO. 40-19-01 BRIDGE REPAINTING OHIO TURNPIKE RAMP OVER REYNOLDS ROAD (U.S. 20) – M.P. 59.8, KEY STREET (C.R. 101) OVER OHIO TURNPIKE – M.P. 60.8, OHIO TURNPIKE OVER GLENWOOD ROAD (T.R. 110) – M.P. 66.0, OHIO TURNPIKE OVER CEDAR CREEK – M.P. 68.0, OHIO TURNPIKE OVER CUMMINGS ROAD (T.R. 238) – M.P. 70.3, OHO TURNPIKE OVER STATE ROUTE 163 – M.P. 73.0 LUCAS AND WOOD COUNTIES, OHIO
Deadline:	FEBRUARY 28, 2019 AT 2:00 P.M. (EASTERN)
(Estimated Cost: \$2,440,000.00)	
Ride	

Bids	
Business	Bid Total
APBN Inc	\$1,769,770.00
KMX Painting, Inc.	\$2,084,000.00

## APBN, INC.

## GENERAL (Ref. Nos. 1 - 3) Extension Ref. No. Item No. Description Quantity Units **Unit Price** IB.ART.6 PREMIUM FOR CONTRACT PERFORMANCE BOND 1.00 LUMP \$20,000.00 \$20,000.00 1 AND PAYMENT BOND SP 614 MAINTAINING TRAFFIC LUMP \$110,000.00 2 1.00 \$110,000.00 MOBILIZATION 3 624 1.00 LUMP \$50,000.00 \$50,000.00 \$180,000.00 Total:

PAINTIN	G OF STF	RUCTURE - OHIO TURNPIKE RAMP OVER REYNOLI	DS ROAD (U.S	S. 20) - M	.P. 59.8 (Ref. No	s. 4 - 14)
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	Extension
4	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$60,960.00	\$60,960.00
		SYSTEM OZEU				
5	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$15,240.00	\$15,240.00
		SYSTEM OZEU				
6	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$15,240.00	\$15,240.00
		INTERMEDIATE COAT, SYSTEM OZEU				
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$15,240.00	\$15,240.00
		FINISH COAT, SYSTEM OZEU				
8	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00
9	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$50.00	\$1,000.00
10	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00
11	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00
12	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
13	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$100.00	\$100.00
		DISPOSAL				
14	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$5,000.00	\$5,000.00
					<b>_</b>	

Total:

\$116,580.00

PAINTING OF STRUCTURE - KEY STREET (C.R. 101) OVER OHIO TURNPIKE - M.P. 60.8 (Ref. Nos. 15 - 25)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
15	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$124,640.00	\$124,640.00	
		SYSTEM OZEU					
16	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$23,370.00	\$23,370.00	
		SYSTEM OZEU					
17	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$23,370.00	\$23,370.00	
		INTERMEDIATE COAT, SYSTEM OZEU					
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$23,370.00	\$23,370.00	
		FINISH COAT, SYSTEM OZEU					
19	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00	
20	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$50.00	\$1,000.00	
21	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00	
22	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00	
23	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00	
24	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$100.00	\$100.00	
		DISPOSAL					
25	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$5,000.00	\$5,000.00	
					Total:	\$204,650.00	

PAINTING OF STRUCTURE - OHIO TURNPIKE OVER GLENWOOD ROAD (T.R. 110) - MP 66.0 (Ref. Nos. 26 - 36)								
Item No.	Description	Quantity	Units	Unit Price	Extension			
SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1.00	LUMP	\$244,000.00	\$244,000.00			
SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1.00	LUMP	\$45,750.00	\$45,750.00			
SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1.00	LUMP	\$45,750.00	\$45,750.00			
SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1.00	LUMP	\$45,750.00	\$45,750.00			
		32.00 20.00	HOURS HOURS	\$50.00 \$50.00	. ,			
	Item No.   SP 514A   SP 514A   SP 514A   SP 514A   SP 514A   SP 514A	Item No.DescriptionSP 514ASURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEUSP 514AFIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEUSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEUSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FIELD PAINTING OF NEW AND EXISTING STEEL,	Item No.DescriptionQuantitySP 514ASURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU1.00SP 514AFIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU1.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU1.00SP 514AREMEDIATION OF CHLORIDES32.00	Item No.DescriptionQuantityUnitsSP 514ASURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU1.00LUMPSP 514AFIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU1.00LUMPSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00LUMPSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00LUMPSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00LUMPSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU32.00HOURS	Item No.DescriptionQuantityUnitsUnit PriceSP 514ASURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU1.00LUMP\$244,000.00SP 514AFIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU1.00LUMP\$45,750.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00LUMP\$45,750.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU1.00LUMP\$45,750.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU1.00LUMP\$45,750.00SP 514AREMEDIATION OF CHLORIDES32.00HOURS\$50.00			

				Т	otal:	\$391,150.00
36	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$5,000.00	\$5,000.00
		DISPOSAL			<b></b>	<b>+</b>
35	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$100.00	\$100.00
34	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
33	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00
32	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00

PAINTING OF STRUCTURE - OHO TURNPIKE OVER CEDAR CREEK - MP 68.0 (Ref. Nos. 37 - 47)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
37	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$91,680.00	\$91,680.00		
		SYSTEM OZEU						
38	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$22,920.00	\$22,920.00		
		SYSTEM OZEU						
39	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$22,920.00	\$22,920.00		
		INTERMEDIATE COAT, SYSTEM OZEU						
40	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$22,920.00	\$22,920.00		
		FINISH COAT, SYSTEM OZEU						
41	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00		
42	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$50.00	\$1,000.00		
43	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00		
44	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00		
45	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00		
46	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$100.00	\$100.00		
		DISPOSAL						
47	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$5,000.00	\$5,000.00		

Total:

\$170,340.00

PAINTIN	G OF STF	RUCTURE - OHIO TURNPIKE OVER CUMMINGS ROA	D (T.R. 238)	- MP 70.3	(Ref. Nos. 48 -	· 58)
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
48	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$263,280.00	\$263,280.00
		SYSTEM OZEU				
49	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$49,365.00	\$49,365.00
		SYSTEM OZEU				
50	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$49,365.00	\$49,365.00
		INTERMEDIATE COAT, SYSTEM OZEU				
51	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$49,365.00	\$49,365.00
		FINISH COAT, SYSTEM OZEU				
52	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00
53	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$50.00	\$1,000.00
54	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00
55	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00
56	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
57	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$100.00	\$100.00
		DISPOSAL				
58	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$5,000.00	\$5,000.00
					Total:	\$421,275.00

PAINTIN	PAINTING OF STRUCTURE - OHIO TURNPIKE OVER STATE ROUTE 163 - MP 73.0 (Ref. Nos. 59 - 69)									
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension				
59	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1.00	LUMP	\$176,560.00	\$176,560.00				
60	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1.00	LUMP	\$33,105.00	\$33,105.00				
61	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1.00	LUMP	\$33,105.00	\$33,105.00				
62	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1.00	LUMP	\$33,105.00	\$33,105.00				
63 64		REMEDIATION OF CHLORIDES GRINDING FINS, TEARS, AND SLIVERS	32.00 20.00	HOURS HOURS	\$50.00 \$50.00	. ,				
64	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$50.00	\$1,000.00				

65	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00
66	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00
67	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
68	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1.00	LUMP	\$100.00	\$100.00
69	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$5,000.00	\$5,000.00
				т	otal:	\$285,775.00
	TOTAL BID AMOUNT (REF. ITEMS 1 THRU 69)					\$1,769,770.00

## **KMX PAINTING, INC.**

GENERAL (Ref. Nos. 1 - 3)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND	1.00	LUMP	\$25,000.00	\$25,000.00		
		AND PAYMENT BOND						
2	SP 614	MAINTAINING TRAFFIC	1.00	LUMP	\$120,000.00	\$120,000.00		
3	624	MOBILIZATION	1.00	LUMP	\$140,000.00	\$140,000.00		
					<b>-</b>			
					Total:	\$285,000.00		

PAINTIN	G OF STF	RUCTURE - OHIO TURNPIKE RAMP OVER REYNOLI	DS ROAD (U.S	S. 20) - M.	.P. 59.8 (Ref. No	os. 4 - 14)
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	Extension
4	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$180,000.00	\$180,000.00
		SYSTEM OZEU				
5	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$10,000.00	\$10,000.00
		SYSTEM OZEU				
6	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$10,000.00	\$10,000.00
		INTERMEDIATE COAT, SYSTEM OZEU				
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$10,000.00	\$10,000.00
		FINISH COAT, SYSTEM OZEU				
8	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00
9	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$100.00	\$2,000.00
10	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00
11	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$20.00	\$400.00
12	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
13	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$2,000.00	\$2,000.00
		DISPOSAL				
14	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$20,000.00	\$20,000.00
					<b>T</b> = ( = 1	¢000.000.00

Total:

\$238,000.00

PAINTING OF STRUCTURE - KEY STREET (C.R. 101) OVER OHIO TURNPIKE - M.P. 60.8 (Ref. Nos. 15 - 25)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
15	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$180,000.00	\$180,000.00
		SYSTEM OZEU				
16	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$10,000.00	\$10,000.00
		SYSTEM OZEU				
17	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$10,000.00	\$10,000.00
		INTERMEDIATE COAT, SYSTEM OZEU				
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$10,000.00	\$10,000.00
		FINISH COAT, SYSTEM OZEU				
19	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00
20	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$100.00	\$2,000.00
21	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00
22	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$20.00	\$400.00
23	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
24	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$3,000.00	\$3,000.00
		DISPOSAL				
25	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$20,000.00	\$20,000.00
					. ,	· ·
					Total:	\$239,000.00

PAINTING OF STRUCTURE - OHIO TURNPIKE OVER GLENWOOD ROAD (T.R. 110) - MP 66.0 (Ref. Nos. 26 - 36)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
26	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1.00	LUMP	\$300,000.00	\$300,000.00	
27	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1.00	LUMP	\$20,000.00	\$20,000.00	
28	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1.00	LUMP	\$20,000.00	\$20,000.00	
29	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1.00	LUMP	\$20,000.00	\$20,000.00	
30 31		REMEDIATION OF CHLORIDES GRINDING FINS, TEARS, AND SLIVERS	32.00 20.00	HOURS HOURS	\$50.00 \$100.00	, ,	

			7	Fotal:	\$400,000.00
36	SP 525A CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00
	DISPOSAL			. ,	. ,
35	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND	) 1.00	LUMP	\$4,000.00	\$4,000.00
34	SP 525A ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
33	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$20.00	\$400.00
32	SP 525A WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00

PAINTING OF STRUCTURE - OHO TURNPIKE OVER CEDAR CREEK - MP 68.0 (Ref. Nos. 37 - 47)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
37	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$190,000.00	\$190,000.00	
		SYSTEM OZEU					
38	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$10,000.00	\$10,000.00	
		SYSTEM OZEU					
39	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$10,000.00	\$10,000.00	
		INTERMEDIATE COAT, SYSTEM OZEU					
40	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$10,000.00	\$10,000.00	
		FINISH COAT, SYSTEM OZEU					
41	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00	
42	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$100.00	\$2,000.00	
43	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00	
44	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$20.00	\$400.00	
45	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00	
46	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$2,000.00	\$2,000.00	
		DISPOSAL					
47	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$25,000.00	\$25,000.00	
						· •	

Total:

\$253,000.00

PAINTING OF STRUCTURE - OHIO TURNPIKE OVER CUMMINGS ROAD (T.R. 238) - MP 70.3 (Ref. Nos. 48 - 58)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
48	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$300,000.00	\$300,000.00
		SYSTEM OZEU				
49	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$20,000.00	\$20,000.00
		SYSTEM OZEU				
50	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$20,000.00	\$20,000.00
		INTERMEDIATE COAT, SYSTEM OZEU				
51	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$20,000.00	\$20,000.00
		FINISH COAT, SYSTEM OZEU				
52	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00
53	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$100.00	\$2,000.00
54	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00
55	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$20.00	\$400.00
56	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
57	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$4,000.00	\$4,000.00
		DISPOSAL				
58	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00
					Total:	\$400,000.00

PAINTING OF STRUCTURE - OHIO TURNPIKE OVER STATE ROUTE 163 - MP 73.0 (Ref. Nos. 59 - 69)							
Item No.	Description	Quantity	Units	Unit Price	Extension		
SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1.00	LUMP	\$190,000.00	\$190,000.00		
SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1.00	LUMP	\$15,000.00	\$15,000.00		
SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1.00	LUMP	\$15,000.00	\$15,000.00		
SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1.00	LUMP	\$15,000.00	\$15,000.00		
		32.00 20.00	HOURS HOURS	\$50.00 \$100.00	. ,		
	Item No.   SP 514A   SP 514A   SP 514A   SP 514A   SP 514A   SP 514A	Item No.DescriptionSP 514ASURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEUSP 514AFIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEUSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEUSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FIELD PAINTING OF NEW AND EXISTING STEEL,	Item No.DescriptionQuantitySP 514ASURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU1.00SP 514AFIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU1.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU1.00SP 514AREMEDIATION OF CHLORIDES32.00	Item No.DescriptionQuantityUnitsSP 514ASURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU1.00LUMPSP 514AFIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU1.00LUMPSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00LUMPSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00LUMPSP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU1.00LUMPSP 514AREMEDIATION OF CHLORIDES32.00HOURS	Item No.DescriptionQuantityUnitsUnit PriceSP 514ASURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU1.00LUMP\$190,000.00SP 514AFIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU1.00LUMP\$15,000.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU1.00LUMP\$15,000.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU1.00LUMP\$15,000.00SP 514AFIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU1.00LUMP\$15,000.00SP 514AREMEDIATION OF CHLORIDES32.00HOURS\$50.00		

65	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00
66	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$20.00	\$400.00
67	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
68	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1.00	LUMP	\$3,000.00	\$3,000.00
69	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$25,000.00	\$25,000.00
				٦	Fotal:	\$269,000.00
TOTAL BID AMOUNT (REF. ITEMS 1 THRU 69)						\$2,084,000.00